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QUESTION 1

Which statement is true regarding the compress engine?
A. Compression ratio is data dependent.

B. Compression is performed by the host.

C. Compression degrades data scan speeds.

D. Compression is performed by the SAS switches.

Correct Answer: A

QUESTION 2

What will prevent a GROOM TABLE command from running on a table named TableA?
A. If there are any materialized views on the table TableA.

B. If there are any active selects running against the table TableA.

C. If there are any active nzloads running against the table TableA.

D. If there are any active updates running against the table TableA.

Correct Answer: A

QUESTION 3

Which User Defined Function (UDF) statement is true?

A. It accepts zero or more input values but produces one output value.

B. It accepts exactly one input value and produces exactly one output value.

C. it accepts exactly one input value and produces one or more output values.
D. It accepts zero or more input values and produces one or more output values.

Correct Answer: A

QUESTION 4
When working with sequences, which statement will always be true?
A. One-up numbers are generated.

B. Integers (whole numbers) are generated.
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C. The first value generated is the number 1.
D. The sequence number assigned will be unique across all tables and databases.

Correct Answer: B

QUESTION 5

An ETL/ODBC application is inserting 1 million records in a single transaction against the PureData
System for Analytics. 1 million individual INSERT SQL statements are generated.

What can make this faster?

A. Use a COPY command.

B. Use an EXTERNAL TABLE.

C. Increase the Socket Buffer Size.

D. Set the COMMIT interval to 10,000.

Correct Answer: B
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